P RFHARDL  HIER A R

TR 284F9 H (FereBriHE)
B5 B 4 B 3 B2 B1 &t
X4 | FE4 B % U % e % N % N % N %

Bk L YR 6 1.2 294 60.9 156 32.3 26 5.4 1 0.2 483 100. 0
B4R 2 0.4 302 59. 3 175 34. 4 29 5.7 1 0.2 509 100. 0

HEJR 4 -8 -19 -3 0 -26
REA WA 4 0.8 297 58.5 186 36. 6 20 3.9 1 0.2 508 100. 0
AR 4 0.7 326 58. 4 206 36.9 22 3.9 0.0 558 100. 0

PR 0 -29 -20 -9 1 -50
)1k W AR 4 0.7 328 59. 6 196 35. 6 20 3.6 2 0.4 550 100. 0
AR 6 1.0 342 58. 6 207 35. 4 29 5.0 0.0 584 100. 0

PR -2 -14 -11 -9 2 -34
AR MW 3 0.7 278 62. 1 152 33.9 15 3.3 0.0 448 100. 0
AR 8 1.8 252 57.7 149 34. 1 28 6.4 0.0 437 100. 0

PR -5 26 3 -13 0 11
FE WA 5 1.1 286 60.9 155 33.0 24 5.1 0.0 470 100. 0
BT 4AF 8 1.6 294 57. 1 175 34. 0 37 7.2 1 0.2 515 100. 0

PR -3 -8 -20 -13 -1 —45
1TH WA 3 0.5 308 56. 2 212 38.7 25 4.6 0.0 548 100. 0
BT 4AF 3 0.5 336 59. 7 195 34. 6 28 5.0 1 0.2 563 100. 0

PR 0 -28 17 -3 -1 -15
UNL| YR 7 1.4 297 59. 2 180 35.9 17 3.4 1 0.2 502 100. 0
HT4F 5 1.0 318 61.5 169 32. 7 25 4.8 0.0 517 100. 0

P 2 -21 11 -8 1 -15
=) WA 5 1.3 214 54. 0 162 40. 9 14 3.5 1 0.3 396 100. 0
HT4F 8 1.7 266 56. 8 171 36.5 23 4.9 0.0 468 100. 0

P -3 -52 -9 -9 1 -72
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